i 1»;.-[3 ) GeoGebra Clasko X =

fe

« O “1 hpsZivaw geogebra org/classiclang -«
@ FX)=X48X+12 =N E

a = Sumalnferior(F. -4,0,100)

o

= 501

-+ Entrada Im

10 14 -12 -10 -3




o vt -

Dlok'h!lln )

T C (3 hpe//www geogebia org/e b
e b OOLN = 4
@ F(X)=Xx-4ax-5 =

a = Sumalnferior(F. —1.5.100)
@

= -3654

4 Entrada.

M ar

-12 -10 -8 -8

JM

\

i b
WM
iy
W

0233p.m

. 9 O om0

s G




“ c [ (5] tps//www.geogebra.org/classic lang =es
R]* ~ X P OO LN =@

L =N

a = Sumalnferior(F. —4.5,100)
= -0.18

Entrada t




